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This test has two parts. Part | as well

as part Il consist of 90 questions In
each,

Each question carries one mark.

Since the time allotted to the two
Parts of this question-paper is very
limited, you should make the best
use of it by not spending too much
time on any question.

Extra page has been provided for

rough work at the end of question
booklet.

Do not mark more than one answer
of any question on OMR sheet
otherwise answer will be cancelled.

Avoid cutting or over writting on OMR
sheet.

Attempt each question, there is no
negative marking in this test.

g gET & Wl ¥ B | U@ 91T H gg
T g |

TP U BT U 3P 2 |

d9f% 39 U-ud @ <Hf A & oy
fuiRa w9 Gifyag 2, gafew zaH
Jferpad wgudrT BTG 3T T oo
TR 984 99T 7 ATV |

w1 gRAHT & 3id ¥ ¥ (Rough) F14 &
forg aifoReaa g Rar mar 2

ANTANMR. M RIFAN T[T F
I IR HIdH 7 P 9¥AT IR A
B SITQT |

IN.GHIR. e IR ST 771 3igr i
B |

TP U T DI, 59 9&or § 3518
THRIHAD 3H- 98] & |

Noh Do not write anything except
.+ the Roll Number and rough
.~ workanywhere inthe booklet.
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5, R o T

PART-l ( 4T71-1)

MENTAL ABILITY TEST
ANfgeh radar Ao

Questions : 1 to 90

P Directions : (Q. 1 to 4)
The numbers have been arranged under
some rule. Based on that rule, which
number will come in place of the question
mark?
Q1. 1,9,2548,7,121
(1) 84
2 a1
! (3) 91
| (4) 100
. Q.2 11,13,17,19,23,25,7
(1) 26
2y 27
(2) 29
(4 a7
- Q.3. 240,7,120,40,10,2
4 (1) 120
- (3 420
4 420
5‘ Q.4 4,7,12,19,28,7
e a0
) 00
4y 48

(9, 17 4)

% T faou % ovar o o o 1 24
famg % 2o U7 YrAATEE (9% T WA 0T

71, 1, 8, 25, 49, 7, 121
(1) &4
(z2) 21
() 91 .
(4) 100
72 11,13, 17, 19, 23, 25, ? .
(1) 25
2y 27
(3 29
(4) 37
7 3. 240, 7, 120, 40, 10, 2
(1) 120
(2) 240
(3 420
(4) 420
7. 4. 4,7, 12,19, 28,2
(1) 20
(2) 28
(3) 39
(4) 49
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Directions: (Q.5 to 7)

How many triangles are there in each figure
given below.

(1) 6
2) 10
@ 11
(4) 12
Q.6
(1 4
2 5
3 6
(4) 7
Q.7.
(1) 8
2 10
3 12
(4 14

(W59 7)
e v argta o figen @t wear faer
£?
w& K
(1y 6
(2) 10
(3 11
(4 12
. 6.
(Mm 4
2 5
(3) 6
@4 7
.7
(1) 8
2) 10
(3 12
4 14
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Directions: (Q. 8 to 11)

A series of small letters are given which
follow a certain pattern. However some
letters are missing from the series. You have
to find out the right set of letters from alter
natives that can be inserted into the blanks
of the series.

Q.8. __aba__ba_ab
(1) abbba
(2) abbab
(3) baabb
(4) bbaba
Q.9. ab baa _ _ab_

(1) aaaaa

(2) aabaa
(3) aabab
(4) baabb
Q10. m_nm_n_an_a_ma_
(1) aamnan
(2) ammanm

(3) aammnn
(4) amammn

Q.11.a_ba_b_b_a_»>b
(1) abaab
(2) abbab
© (3)  aabba
(4) bbabb

Directions: (Q.12 to 16)

In each of the following figures, numbers
are written according to some patterns and
one number is missing, shown by question
marks Find the missing number that
replaces the question mark.

o (w8 @ 11)
3T guiaren & B 31gRl & T e €t
w §, W s Fffem ww A # wqp asw
sfEe |/ T §1 3G T e W A
fir o faameat W ¥ wifew, fam fam vt
@t gfd @t 9 W

U 8. __aba__ ba_ab
(1) abbba
(2) abbab
(3) baabb
(4) bbaba
w.9. ab__baa_ _ab_
(1) aaaaa
(2) aabaa
(3) aabab
(4) baabb
T.10. m_nm_n_an_a_ma_
(1) aamnan
(2) ammanm
(3) aammnn
(4) amammn
w11, a_ba_b_b_a_b
(1) abaab
(2) abbab
(3) aabba
(4) bbabb
fror (W, 129 16)
F=r &t T wdw gty ¥ uw Ffyem ww
SR P wemd fad w8 o A uw
e @ ¢, fad wew forr & qwifar mar &
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»Q.14,
5

(1)
(2)
(3)
(4)

196
246
250
256

15
16
17
18

Q.15. @) @)

(1)
(2)
(3)
(4)

IRAYE

w13,

72

w.14.

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

12

W.15.
29)

(1)
(2)
(3)
(4)

(1)

2) .

(3)
(4)

20

25
37
41
47

196
246
250
256

15
16
17
18

ee
@) . .. .
25

50
75

" R R e U A ey

= |
i
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nl“l

(1) 35
(2) a7
3) 45
4 47

Directions: (Q.17 to 19)

In each of the following question, among
all the alternetive marked (1), (2), (3) and
(4) select the one which satisfies the same
condition of placement of the dot (s) as In
Q.17.

&) 75 (7 B .

(X) (1 (2) (3) (4)

Q.18.

N EANRIN

(%) (1) (2) (3) (4)
Q.19.

7= WoNCHOVE,

(X) (M (2) (3) (4)

¥.186.

(NB) (B5d)  (858)

(1) 35

2) 37

(3) 45

(4) 47
o (w. 179 19)
o & ™ vl wvw ®, W R (1),
(2),(3) @ (4) % & ®r T ammfar (x) &
oty T figall & v # Rafy ¥ ¥ @
w7
w17. .
2 @ %) D\
X (1) @ (3) (4)
w.18.
5§ @\@% I
P R I ) N )
w.19.

7

&

- (4)

& A
(2) (3)
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Directions: (Q.20 to 22)

Figure 'X' is embadded in one of the given
four figure. Trace out the correct

Forfwr (w. 20 @ 22)
ferm X' ﬁﬁqwmmfﬁmffrwfﬂwﬂ
ek W o warfua farar war §) 3fem fame

pattern is given. One segment is missing
from the design. Select the alternative
which will complet the design when placed

alternative. 'G'Tﬁ'ﬂ:l
Q.20. w.20.
/ ) >
(X) (1) (2) (3) (4) (X) (1) (2) (3) (4)
Q.21. w.21. et ol
(X) (1) (2) (3) (4) (X) (1) (2) (3) (4)
'0.22. .22, |
1R XK A [ RIE]KK
(X) (1) (2) (3) (4) (X) (1) (2) (3) @)
Directions: (Q.23 to 25) e (w. 23 9 '25 )
In each of the following question a design/ Frefafad uwt i vl ﬁ@ -?:TF"HB:T-QHT/?TU

ﬁmw%nmwmm%lmﬁm
® i W qw e W Tert T

on the missing area. HTHHTIAT/AA [T HT A
Q.23. W.23.
(1) (2) (3) (4) ) (@) @) ()
(X) : - (X) SRR YA T
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Q.24.

o M @ @ @

Q.25.

o

(X)

(1) (2) (3) (4)

Directions: (Q. 26 to 28)

In each of these question, choose the
correct mirror image of the figure (x) from
four alternative given along with it.

Q.26.

W.24.

) (1) (2) (3) (4)

W.25.

?

x) (1) (2) (3) (4)
fador (W, 26 & 28)

faw o weet A A amepfar (x) Fr Fdor ¥ Fww
W et faad 3, ww wrg fag T faeeat
o ¥ wgt Iw wifed) ]

W.26.

A|AV Y A

(X) (1) (2) (3) (4)

Q.27. 0.27.
(X) (1) (2) (3) (4) (X) (1) (2) (3) (4)
Q.28. W.28. '

D IRDCPIRVITO

X) (1) 2 @ (4)
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In these question, Different positions of a
dice are given. Answer the question
followed by figures.

032

(1J (2) (31 (4)

Which nimber is opposite to 6 ?
(1) 1
@ 2
(3) 3
4

Directlons: (Q.29 to 31) | frdyr (W, 29 ¥ 31)
In each of these question, choose the | fiq 7 wy=t & & amaga (x) U ¥ ¥@7 W
correct water image of the figure (x) from formh faeeat o |
amongs all the four alternative given along F =i, T Y »
with it I wifed]
Q.29. W.29.
N A Wy ) B N <
o 08 Lo o L &
(X) (1) 2) {3) (4) (X) (1 @ @ @
Q.30. w.30.

A 117 - P F ) I
FIeH] AN S B B | R i
(X) (1) (2) (3) (4) (X) (1) (2) (3 (4)

Q.31.

«e»«o X0 R By &R EN
%@%@00 @05 0@
(X) {1) (2) (3) (4} (X) (1) {2} (3) (4)

Directions: (Q.32 to 34) o (. 32 9 34)

57 W o e T  fafer Rt fear

¢ &1 Torll & Wre YS TIU WeAT w0 I ey

u 32
(1) (2) (3) {4

TH-|1 3, 37F 6 5 fauia 22

(1 1

2) 2
8 3 ok
@4 4 AR,
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(1) 2) (3) 4
Which number is oppasite to 4 ?
(1) 1
(2) 2
(3) 3
(4) S

How many dots lie opposite to 2 dots?

(n 1
2 3
(3 5
(4) 6
Directions: (Q.35 to 38) e (93510 38)

Which one of the answer figure would | Ify Ty agis TOF &9 § &= & 3=

nmw“ﬂ:wm position in the o = W I R 4 9 S W g
order. T W

11
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Answer figure Al m
(1) (2) (3) (4) (1) (2) (3) (4)
Q.36. Problem figure W.36. WA IMepfadr
* | ¢ |
Answer figure Extdc el
| SN | 2N [y | 77 N | AN | 2T
S 2 v
(1) (2) (3) (4) (1) (2) (3) (4)
Q.37. Problem figure W.37. YA IRfaq
° ° ° °
° 0 ° C ® ® D %
° ° ° °
Answer figure I 3 faa
: = ® @ ° - : ° ® ~ = -
" ®
(1) (2) (3) (4) (1) (2) (3) (4)
12
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Q.38. Problem figure

W.38. W Hfadl

® O ® o ® © ® o
O ® o0 O & Q0O
® O ® @& ® ® ® e
Answer figure IW il
O O O O O O O O
e @ O00| O 000 O00|] O
O O O O O O O O
(1) (2) (3) (4) (1) (2) (3) (4)
Directions: (Q.39 to 41 ) | P (w39 @ 41).
The first unit contains two figure and the qEelt gaTg W AT ot § A R 3 W T
second unit contains one figure and a | argfa war Wy fogl w@ Fiwg fd Iw
question mark. Find out which one of the mﬁﬂh ¥ ¥ v faw & ™A W i o
answer figures should be placed at
question mark. T T aTih
Q.39. Problem figure W.39. Y SAHiadi
DO ? |||[D| ?
Answer figure I ARGl
(1) (2) (3) (4) (1) (2) (3) (4)

13
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Q.40. Problem figure

W.40, v steRfaal

QO] |[A]] 7 |[|©)] [[&]] 2
Answer figure I SR
(1) @ (3) (4) (1) (2) (3) (4)
Q.41. Problem figure w41, WA 3nEfaa
A ? A '-’
Answer figure I S
M) > N -
(1) (2) (3) (4) (1) (2) (3) (4)
Directions: (Q.42 to 44) o (W 42 @ 44)
In each of the following question, four Frafafas o uv § = m # ’1’
fi h been given, of which three are , o .
aﬁ::e ina::ma :u?yv:':idao:a 'i:n different ¢, fomid & e e et ware & v
choose the odd one. 3l T amgfa = R s =t wifed
Q.42 .42

A

L

M

W

A

2

M

W

(1 (2) (3) (4)

(1)

(@)

(3)

@

14
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RN
(" (2) (3) (4)

Q.44

8o

o
BN
T @ @ @

.44

s —

O

b s

(1) (@) (3) (4)

Q.45 One day Ravi left home and cycled
10km south wards, turned right and cycled
5km and turned right and cycled 10km and
turned left and cycled 10km. How many km.
will he have to cycle to reach his home
straight?

(1) 10 km
@  15km
(3)  25km
(4) 35 km

Q.46. When letter of English word
'REGIONAL' are arranged alphabetically In

sequence then how many latters will remain
in its original position?

(1) Three

(2) Two

(3) Four

(4) One

(2) (3) (4)

w.45. UH faa W ¥ wiEe W oW A
worET 10 T, afior @ ofv s &, FC
wear & afve 5 farf, e & ol @t gueT
3l 10 fRAR, = €, v wig yyar ¢ A
10 for i, wrerr &7 aw ara uwt el forow

e @ R fart gt e g fener e,
(1) 10 km
(2)
(3) 25 km
(4) 35 km

W46, W& Y ‘REGIONAL' & 278 Fuimren
& 0 ¥ wrmg Wd A fra argr et feafa
ot gt w7
(1)
(2)
(3)
(4)

15 km

Gl

Q
=

Th

15
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Q.47. Three of four words in alternative
series are same in any way and form a
group. Which one of this group does not
belong to it?

(1) Rainbow
(2) River

(3) Tree

(4) Factory

Q.48. If the 'brick’ is related to 'wall' then
which is related to 'book'?

(1) Publisher

(2) Page
(3) auther
(4) printing

Q.49. NETWORK is coded as JONVSDM in
a cartain language, then in the same
symbolical language COMPUTER will be
‘coded as -

(1) SDSTPBNL
(2) BNPLSDI
(3) CBNLOSTD
(4) QDSTOLNB
Directions: (Q.50 to 54)

In the following group of questions two
statement whether these are not true to
facts are followed by two conclusion | & Il
On the basis of these statements determine
which conclusions follow the statements

logically. Answer lies in:

(1) If Conclusion | follows.

(2) If Conclusion |l follows.
(3) Neither | nor |l follows the statment.

(4) Both | and Il follows.

w47, Trofafas o fawea § 9§ @ findt

YR Ua G & a9 T THE & TS S
#1 @ W T 36 Wy & =T T e 47

(1)
(2 &
3 =
(4) @

w48, gfx draw &1 waw T A ¢ A =
w1 daw fred £2

(1) VNS
2 T=
(3 ©EF
(4) o

w49, ufa fadt arafas e ¥ NETWORK
= JONVSDM ferar wrar & & et smar o

COMPUTER ®! farm wanrt feranm smam?
(1)  SDSTPBNL
(2)  BNPLSDI

(3) CBNLOSTD

(4) QDSTOLNB

frdr (w. 50 | 54)

= faw 1o v wee oy A 9@ wew W A
T ATAR T T4 4 T 3w g 2 Prawd
Iaﬂwﬁvgtuma:hmﬁuam
e iR R C i

(1) % %ad fed | Fem F: sgeo @ ¢
(@ = Rl | Fwm F s @

@) RIS T s @
@ R P | e ) s

16
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Q.50.
Statement:-

Some Snakes are fish.

All crocodiles are fish.
Conclusions:-

I. All crocodiles are snakes may be a

possibility.

IIl. Some fish may be snakes.
Q.51.
Statement:-

No medal is a trophy.

No trophy is laptop.
Conclusions:-

I. No laptop is a medal

Il. Some of the trophies are laptop.
Q.52.
Statement:-

Some films are bakeries.

All bakeries are cartoons.

Conclusions:

|. Some cartoon are films.

Il. No cartoon is a film.
Q.53.
Statement:

Some bats are balls

Some balls are wickets

Conclusions:

I. All wickets are bets

Il. Some wicket may be bats.
Q.54.
Statments:

All Red balls are rounds.

All round are planets

Conclusion:

. All red balls are planets.

II. All planets are not red balls.

Q.55. Acconding to sequenced English
alphabet if GV is related to TE then in the
same fashion MD will be related to :-

(1)
(2)
(3)

NW

LX

XT
(4) SF

W.50.
ST @'ﬂﬁ'ﬂ@?‘ﬂ%l

T TS "o 2
Prepd:- 1. @t TSl @ 99 g

TF HHE B

Il B TS Fq & TR B
.51,
g - Eﬁﬂgﬁiﬂﬁ?ﬁ%l

¥ ZH TR, FeE TE 2
fremd:- 1. FE dyem, HeE 1@ 2

. ¥ TfRal dveg 2|
u.52.
A~ FP (hed, I 2

Tt AT, FRA
frewd:- | 9 F1eA (e 2

I, Y F27 frem @ 21
.53,
- @Hﬁﬁ%%l

w3 T fawe 2
frepd:- 1wt fade o R

I, % fade ace & T 2
W.54,
FO:- W o 1R e g 1ad e, T R
Toreaped ;- I.H‘ﬂﬁlﬂﬂ%'ﬂ%"&l

II. |+t 7 @ R T R

w.55. afy HHEG A AUIHIET & ATER
GV & G859 TEW § o 3 WK MD & g&g
e B

(1) NW
(2 X
(3 XT
(4) SF

17
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Directions: (Q.56. to 58.)

Three of the four are alike in a certain way
and so form a group. Which is add one ?

Q.56. (1) January
(2) December
(3) February
(4) August

Q.57. (1) Apple
(2) Orange
(3) Guava
(4) Carraot

Q.58. (1)  Spring
(2) Pond
(3) Lake
(4) Tank

_ Directions: (Q.59. to 61)

In each of the following question a related
pair of words is followed by four number

- pairs of alternatives. Select the pair that has

frder (u.56 Ws8)
TUEE ST AR 91 ¥ U avew
TETT U I B
w56, (1)  wEEd
(2) e
(3) w@Ed
(4) =

(1)
(2)
(3)
(4)

(i)
(2)
(3)
4) =

o (w59 | 61)

Frefafeaa @ v ¥ angad yai & e
% UyaTd 9 W fau ) e faeedt 3w

U.57.

W.58,

a rielatlonshlp similar to that in the original 2% ® gifey fawd ym WY ¥ argew W
pair.
Q.59. Ditch : Depth :: ? W59 @Y : MEE : ?

(1)  Valley : beauty (1) = gaaa

(2) River : blue water (2) = : ren o

(3)  Moon : Eclipse (3) g : T

(4) Mountain : Height (4) vda : F=E
Q.60. Ocean : Water :: ? 60 W : A :: 2

(1) Mountain : Height (1) qedq ; Hats

(2) Glacier : Ice (2) ofagy 9

(3) Cave : Lion 3) T o

(4) Refrigerator : Milk 4) T o
— — e e

18 :
el
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Rest : Weary :: ?

(1) Water : River

(2) Thoughts : Politics
(3) Food : Hungry

Q.61.

(4) Driving : Driver

Q.62. If the position of the first and the
sixth letters of the word 'UNIFORMITY" are
interchenged, similary the position of the
2nd and 7th letters interchanged and so on,
which letter will be 4th from right end after

arrangment?

(1) I

(2) U

3 N

4 M
Directions: (Q.63 to 65)

In each of the following questions, arrange
the given words in a meaning ful sequence
and then choose the most appropriate
sequence from amongst the alternative
provided below each question.

Q.63. (a) Child (b) Job
(c) Infant (d) education

(1) (c). (a) (d), (b)
2 (a). (), (c), (d)

(3)  (c), (d). (a), (b)
(4) (b (a), (d) ()

Q.64. (a) envelop
(b) clearance
(c) post office
(d) latter
(1) (d) (a). (b), (c)
(2)  (a), (d). (c). (b)
(3)  (a) (c), (b). (d)
(4) (), (b), (d), (a)

W61 AN : 9ahT T2AT :: ?

(1) et T

(2) fa=w : yorifa

(3) WA : y@

(4)  gRfam : 9w
W.62 3t yr&d 'UNIFORMITY' & Tgat ot
' B3 Jul ¥ WA qae faar v &1 gl e
W IO qul @ grad qul /), A aot @t emed
AW wYe 79T gierd |ut @t A qgr g9d qut
| wae faar siar € 9 3/ WE 29 o smafia
Ve & 18 W § °rer qui Far ghm

1) |

2 U

(3) N

(4) M
. (63 ¥e65) fdwr:
forer wles Wyt N YT @t dqut e §.

WET 79T Udeh W9 @ ST Toq e faramea
¥ Iugad I Bifewl

et
forgmr

W63 (a) o=l (b)
(c) Tog (d)

(1) (c) (a), (d), (b)
(2)  (a), (b), (c), (d)
8)  (c) (d) (a) (b)
(4) (b (a), (d), (c)

w64 (a) Tomerer
(b) wEH
(c) Seha
(d

(1) () (a), (b), (c)
2 (a) (d) (c) (b)
(3) (@), (c), (b), (d)
(4) (). (b), (d), (a)

_ﬁ

B R R e e et b 0 .
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Q.65. (a) room (b) lock Q.65. (8) T (b) ey

(c) key (d) door (c) =m& (d) ATy

(1) (@), (b), (c). (d) (1) (@), (b), (c), (q)

(2)  (d), (c), (b), (@) (2) (@) (), (b), (a)

3) (o). (b) (d), (a) (3) () (b), (d), (a)

(4) (b), (c), (d), (a) (4) (b). (c), (d), (a)
Directions: (Q.66 to 70) fder : 66 & 70
Study the following figure carefully and forer forx =y mﬁwﬁqmm%
answer the given question. I I

Y

. Q.66. which region denotes Indian W66 HI-WT & AT Jarsi F vaim

Indians

leaders who are not singures? & T A & 22
(1) 2 (1) 2
(2) 3 (2 3
(3) 4 3 4
(4) 5 (4) 5
Q.67. which region represants Indians | w67 @=-ur & wRA Yari A wafim
leaders who are singers? & & S w22
(1) 2 1y 2
(2) 3 (2) 3
(3) 4 3 4
(4) 5 (4) 5

20
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Q.68. which region represants leaders

W68 THI-UI &F Al H WSidra otar &

who are neither singers nor Indians? [ T A Ew T oalw T & wera?
(1 2 (n 2
2) 3 20 3
(3) 6 (3) 6
4 7 @4 7

Q.69. which region represants Indians
singers who are not leaders?

W69 TIH-Ur 47 WHAHE M &l uivE
=T & A Yar T 82

(N 1 (1) 1
(2) 2 (2 2
(3) 3 @ 3
4) 4 4 4
Q.70. which region represants singers | g7o FIF-Tr &F MAHT HN T FAT &
who are neither Indians nor leaders? ﬁqﬁﬂﬂﬁﬂ%aﬁ?ﬂe‘m?
mn 2 (1) 2
(2) 4 2 4
(3) 6 (3) 6
(4) 7 4 7
Directions: (Q.71 to 73) ffwr: 717273

in each of the following question, various
terms of an alphabet series are given in
which one or more terms missing as shown
by (2). Choose the missing terms out of the

frotfafaa fau gu Wt #, st =t gt §
fafa= o2 fau g & foel we o arfie w=
e € 3% (?) T @ gvia i fag g

given alternatives. faeail ¥ ® TEw W=
Q71. R,U,X.A,D,? W71 R,UXA,D,?
() F () F
2 G 20 G
3 H (3 H
4 1 4 |
Q72. T,R,P,N, L ?? w72 T,R,P,NL,?2?
(1) J.G (1) J.G
(2) J.H 2 JH
3y KH (3 KH
@ Kl 4 Kl

e ——— e ————

21
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Q.73. B,D,F,I,L,P,?
(1) R

(2 s
@ 7T
4 v

Q.74. Deepak has a brother Anil. Deepak
is the son of Prem. Bimal is Prem's father.

In terms of related relationship, how is Anil
related to Bimal?

(1) Son

(2) Grandson
(3) Brother

(4) Grandfather

Q.75. D, the son-in-law of B and is the
brother-in-law of A who is the brother of C.
How is A related to B?

(1) Brother

(2) Son

(3) Father

(4) Data inadequate
Directions: (Q.76 to 78)

A square transparent sheet with a pattern
is given. Figure out from amongst the four
alternatives as to how the pattern would
appear when the transparent sheet is folded
at the dotted line.

w73 B,D,F, I L,P,?
(1) R
2 S
@ T
4 Vv

w74 EUE FUE WE A §1 oy
mgﬁ%lhwﬁmﬁm%mﬁnmﬁm
¥ ¥ gay 2?7

(1) W
(2) W=
3) W
(4) T

W75 D, B STHIE TAT A ST ST § e
& Wi }1 AT B ¥ T Hay 32
(1) Wi
2) =
8)  fumn
(4) o= ol A R
Frdwr (w76 @ 78)
& TR areyit We frg w ded &

{1 5@y e ®y =t mew & wa A
ST ) 7w Yo fmrd 3w, fru g
formhew amt fort & & s
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Q7. w7
< NG EEEREE N R B B
_. E - 1| 1 | 1: 1 1 ‘
N | . E |
O\ (1) 2 @ (€ 00 (1) @ = (4}
ars R
a A G z b Wasilz 3 % |
. € >
Qg [Qjdlg i
o0 {1} 2) i3 @ ) (1) 4] 3 (4}
Directions- (Q.79 to 81) =R (ame E8)

Each of the following questions consists

of 2 set of three figure Xy z. showing paper. L

Figure z shows the manner in which the
foided paper has been cut There three
figre are following by four answer figures

T T Syl
SRR ISR TN IE NS
i It wsS
{! SR EmhITEES s

from which you have to choose a ﬁT‘ it wsfasatarts
""""“"""'“"d m:"“""" TR R kR o R
. E=C & 4
Q. e
M e e
. - .
[ ] - -
o o -
X Y y 4 X Y z
) A O dRY O O
' \> 0 A E— ' k <'\ L. i
—/ v \ ’ VAR
1 2 3 2 1 2 3 4

A N e —
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Q.80. W.80.
X Y . z : X Y Z
S d 3p Y
d A I/ | \¢ > 7%
1 2 3 4 1 2 3 4
Q.81. w.81.
= / O s | “
L CD/ O/
X Y Z X Y : Z
o ol [% © 9O |° o ol [P 0 0
O O OO o o OO O O OO o o
2 3 4 1 2 3 4

Q.82. How many 5 are there in the
following number series which are either
preceded by 6 or followed by 7 ?

31245675657247566575
(1 1

(2)
(3)

2
3
4 4

w82, ft W Fret oiw sfmen W 6 @ [T
TN 7 & @ Uyea femaft am 5 o £

31245675657247566575
(1 1

(2)
(3)

2
3
(4) 4

24

3
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Q.83. Sunil ranked 7th from the top and
27th from the bottom in a class. How many
students are there in a class?

(1 31

(2) .32
(3) 33
(4) 34

Q.84. Inacode language COME in codded
as XLNV and ABLE as ZYOV. How will
MOLLY be written in the name code?

(1)  NLOBO
(2)  NLBOO
(3)  LNOOB
(4)  NLOOB

Q.85 If BAD is coded as 514 , 'GIVE' as
3068 and FOR as 729, then how will VIDEO
be written?

(1) 60482
(@) 03482
(3) 30214
(4) 60487

Q.86. Which diagram represents India,
Haryana and Jaipur?

o Co@ar
1 2 3 4

Q.87. If z=52 and ACT = 48 then BAT will
be equal to.

W.83, A ¥ TSt hg A IUT W Widar aaqr
et § 274 v wrw faman Swent we w5

form o &2
1) 31

(2) 32

(3) 33

(4) 34 -
w.84. afq foredt Ao wmar & COME #r
XLNV 79T ABLE %t ZYOV ferar se o =it
WIeT # MOLLY &I féf wenrt e smamm?

(1)  NLOBO

(2)  NLBOO

(3)  LNOOB

(4)  NLOOB

w.85, Ifq fordt wrhfaes @ & BAD =t
514 GIVE &I 3068 @41 FOR ®' 729 ferar

W At 36 99T ¥ VIDEO #t o wanTe ferar
a?

(1) 60482

(2) 03482

(3) 30214

(4) 60487

W.86. I W amgh wRw, whamm e wergy
it w=fvta wet §2 |

o @9 () av
1 2 3 4

W.87. AR z=52 99T ACT=48 @ BAT

| F:-

(1) 39 (1) 39

(2) 41 2) 41

) 44 (3) 44

(4) 46 @) 46
—_—
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Q.88. A girl leaves from her home. She first

walks 30m in North-West direction and then

30m in South-West direction. Next she

walks 30m in South-East direction. Finally,

she turns towards her house. In which
direction is she moving?

(1)
(2)

North-East
North-West
(3) South-East

(4) South-West

If 8+5=6425
7+3=4909

then 6+2 is equal to :-

(1)
(2)
3
(4)

Q.89

3640
3604
3204
2636

- @.90. How many cubes are there in the

given figure:-

w88, T TEH YA JT W A vt
aF uEar 30, IT-ufEw faew § wew
airc fere 30w, Ffgor-afver faem ¥ wewd 4,
fpr g 307, TfOT-gF faem F et o
ﬁaﬁaﬁmﬂaﬁtgzﬂﬁﬁ%lﬂmm
fagm & o W R?

(1) SR

(2) 39

(3 -

(4)  wiEor-uRE

afx If 8+5=6425

7+:3=4909

At 6+2 WU R:-

(1) 3640

(2)
(3)
(4)

U.89.

3604
3204

2636

w90, o E sty ¥ wA I wen feneet 7

(1) 64 1) 64
Ei; ZZ @ 66
@ 70 @3) 68
4) 70

= e
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| PART-Il ( WT9T-11) |
SCHOLASTIC APTITUDE TEST |
v arman weroT
' Questions : 9110 180

Physics

Q.91. While doing the activity on verifying
the laws of reflection of sound four

students measured the angles Zi & Zr as

shown in diagram below. The correct
measurement of angles are:-

AN IR AR

r
] (c) (d)

(1) a
2 b
3 ¢
4 d

0.92. Two vehicles have their masses in
the ratio 1:3 and their kinetic energy in the
ratio 3:1.The ratio of their velocities are-

(1) 1:3

2) 31
@ 91
4 19

0.93. When a body sinks in a liquid the
weight of body is-
(1)  Greater than the volume of
the liquid displaced
(2)  Greater than buoyant force
(3)  Less than buoyant force
(4)  Equal to buoyant force

Physics
.91 sy & TrEds Fram T Herd &
mmﬁmmwﬁuﬂﬁ%
/i qar Zr &t A e femrgar faar
HIUT &1 GE AT EA-

,;1_1_11_1.{.&.’_-{1-“ | | ! f :\,'
T N AN AN
!;J lllli' Iﬂll li!!l

(1) a

@) b

3 ¢

(4) d
w92 A ATEA & FEAU AU 1:3 7T
It TR Soel T AT 3:1 B A I
FUT @ U FI-

(1) 13

2) 31

3 91

4) 19
793 W UH qE wSA W gETA Ot ¢ A
qE HIR-

(1) UM EA & AEH d AUF

T 21

(2) SeUcEd 99 § e T 2
(3) IEEH ad § F g €
(4) IO I H L A T

__________—_———'—-_'--__ f

2i
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Q.94. it 4 body is not accelerated

(1) No unbalanced force acts on
it

(2) No force acts on it

(3) The resultant force is not zero

(4) A single force acts on it.
Q.95. The SPeed time graph of a body in
:nlform motion,in straight line is given

4

Q.96. An object is Placed at 20 cm in front
of plane mirror. If the mirror is moved 2 ¢m
towards the object, the distance between
the position of first & second image seen
in the mirror is-

(1) 2cm
(2) 4 cm
(3) 10 cm
(4) 22cm

Q.97 Which type of medium is placed in front
of the comb shown

w94 R TH I WA TR 7wy,
) ﬁﬁaﬂaﬁawmﬁaqﬁ
g 2

(4) @Wﬂl’&ﬁﬁ%l
W.95 mﬂﬁiﬁﬁmﬁ?mﬁf#.ﬁtnﬁm
TR T AE-THG WE T T -

/|

[
THHI T-999 I B

'I.& .;% =Ih__4

(1) (2)

(3) (4)
W.96. U% I wHaet Fdor § 20 cm &t Tt
T §1 A ade # a w s 2em

mﬁrmﬁ‘ﬁw@rﬁm&aﬁ

;‘:ﬁmmwma} dw w0

(1) 2cm
(2) 4 cm
(3) 10 cm
(4)  22¢em

;.97 Mﬁmﬁaﬁ%mmm
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(1)  Concave lens

(2) Convex lens

(3) Circulor glass plate
(4)  Concave mirror

(1)

Q.98. Match the enteries of column A with
that in column B.
Column A

1. A device used to
measure atmospheric

Column B
(a) Frictional force

pressure

2. A self-adjusting force
3. A device used to
produce sound of
certain fixed frequency
4. An electronic device
which emit light even
when a very weak
current flow through it.

(b) LED
(c) Barometer

(d) Tuning Fork

1)  1-a, 2-a, 3-c, 4d
2) 1<, 2-a, 3-d, 4-b
3)  1-c, 2-b, 3-a, 4-d
4)  1-d, 2-c, 3-b, 4-a

(2) 39 @d
(3) 9 F TH JAFR T
(4)  Eqd FqU
W98 FHIEW A Taema &E B |/ wifwg-
AT A @iH B
|, aEee WA @ fag (a) T 99
FTH AH el IIHI
2. T4 Haferd 9 (b) LED
3, U fafy=a smafa (c) Zramdt
I HT T ITHT
4. O g I S (d) WA A
W a7eq faga varfed
FE ¥ YW Ieqferd
FT
1) 1-a, 2-a, 3-c, 4-d
2)  1-c, 2-a, 3-d, 4-b '
3)  1-c, 2-b, 3-a, 4-d
4)  1-d, 2=, 3-b, 4-a

Q.99. Refractive index medium A and B is
n, and n, while that of Cand D is n, and n,.
If n>n,and n,=n,, which of the following
figure represents correct refraction.

A n, C M A n, My
B n D n B m D o
1) (2)

A n, C Inm A n c ny
B " p ‘ b B o, D N
(3) (4)

.99 TureAW AT B & UEAAiE ny A no
T CIT D T M,A mtluf'q Ny > N4l
n3=n4'!?|‘, ﬂiﬁ‘l’—mﬁﬂ mﬂﬂ"ﬂﬂ‘ﬁﬂﬁl

mmt:

A n C M A Ny c My
B n, ‘D n, B n, D M
(1) 2 MR
A nn ©C M A n, C M
B ™ p M B |mw D M

(3) 4)
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100. Match the enteries of Column A with
that in Column B.

Column A Column B

P. Current carrying

a) L k
solenoid (a) Loud Speakers

Q. Ring magnet (b) Strong magnetic

field

R. Horse Shoe (c) Bar magnet

Magnet

S. Magnetic keepers (d) Permanent Magnet

life

Ans (1)  P-c, Q-a, R-b, S-d

(2)  P-d, Q-b, R-a, S-d
(3) P-d, Q-a, R-c, S-a
(4)  P-d, Q-b, R-a, S-b

Q.101. The camel can walk in desert easily
:l: compared to horse or donkey, because
feets are smaller

Weight is lesser

Feets are broader

4. Heavier body

Q.102. Which of the following statement is
correct for a bulb thermometer.

W N

1. Bulb of a thermometer is made
of conducting material

2. The bulb of a thermometer is made

of poor conducting material

3. Wall is made thin to provide maximum
space for liquid

4, All of the above

W.100. ™ A &1 HIeH Eﬁrrﬁum}wm

firem wifag?

HEH A e B

P, uiEfed Wfferl  (a) @Fe wia
Q.7 A (b) ¥a@ qaHTT g5
R. ®E 1 71 gaF  (c) TS Guw

S. §aH FW (d) ¥ Jawe e
Ans (1) P-c, Q-a, R-b, S-d

(2) P-d, Q-b, R-a, Sd
(3) P-d, Q-a, R-c, S-a

(4) P-d, Q-b, R-a, S-b

W01 FT, N T M H oW ¥ W@ w
ArEr | we A waar €, wiRE

9% W or T ?
ITHT YR FH B 2
i =92 o ¥
IFE R Wi B

:.m o AT & e - s e
?

I Wt & wew w1 uTg g S
et 21

2. O % e 1 Yy e o ol

3. At FT FER Taen Bt 2aE
3HH S W N qH

4. I g

B W o -

__;—‘
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0.103. Amount of which component In
atmosphere keeps on changing?

1 Nitrogen
2. Oxygen
3 Water vapours

4, Carbon dioxide
0.104 A violet coloured non-metal whose
solution is used as an antiblotic for wounds

1 Phosphorus
2. Sulpher

3 lodine

4, Bromine

Q.105 The lowest temperature at which a
substance catches fire is called

1 Boiling Point

2. Melting Point

3 Ignition temperature

4, Critical temperature

Q.106 Which out of the following is the
electronic configuration of a non-metal?

1. 2,82
2. 2,8,5
3. 2,81
4, 2,83

Q107. Nearly pure form of carbon which is
used in industrial prepration of steel and
extractions of metals is -

1. Coal tar

2 Coke

3. Charcoal

4 Carbon black

W.103 amg quwe # fir weeh Wi Arn s
et 47

I g

2, St

3. wE am

4, A BEFIES
w.104 w drlt T @t avary R R
% Gamitfes @ wu ¥ uray ot e e
1 {

1 FTERRE

2 T

3 A

4, WM
w.105 =gaw arq frw ur w wand am

vwga & - wgemar & -

1 A

2 T :

3
4,
W.106 ¥ H ¥ 31U W AR

2,8,2
2,8,5
2,8,1
. 2,8,3
W.107 AT F TH TN & w9 Fraar
vam g & afeife fmfer 7 arel @
frrewd o forar wmar -
. FEaR
I
AR
FEA =N

a3l ol

ol T

P
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Q108. Which acid is present in curd?

1. Acetic acid

2. Formic acid

3. Lactic acid

4. Hydrochloric acid

Q109. A green coloured substance in the
form of layer is deposited when we keep a
copper vessel for a longer period in moist
air. The substance can be -

1. A mixture of copperhydroxide

and coppercarbonate.

2. A mixture of copper sulphate
and copper hydroxide.

3. A mixture of copper oxide and
copper carbonate.

4. A mixture of copper hydroxide

and copper oxide.

*Q110. Which gas is responsible for lobal
warming

w108 TET W HIA-WT A IURGA graw §2

L. wHifesd s
2 it 30l
3. Afees ared
4. EESIEAIh 3T

W109 AE & TAT Wl T AT A& W "W
H 7@ O g 7 &1 9ETed e 9 AW 9w

g vare ¥ -

. I FEGEFEES 9 HIW
FrEe &1 Ao

2.  HIW Gohe 9 HIY TGRS
=1 faso

3. TG AEEIEE d HIW FHEHS
1 fago

4. I FEGEAEES T HW
S 1 fAHw

w110 dfvas Iwm & fau s=-w@ i
ITCEER -

1. CO, 1. oo,
2, NO, n NO,
3. SO, 3. SO,
4. co 4. co
Q111. Burning of wood charcoal does not | w111 FehE T FITAT TTATY THT FETEAT FT
produce flame because forator =& = s -
1. Calorific value of wood :
charcoal is less. I TS F R F Iwtg AE FH e g
2. Ignition temperature of wood
charcoal is high. 2. THEl B FHIOA F G 9 ANF B
3. Flame of wood charcoal is
invisible. 3. RSl F HEE H Saen 7gvd gt g
4, Wood charcoal does not 4 TR _
vapourise. 31 1 Hren anferd & g
T ——— E— e =
32
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2. Which metal is extracted from baux-
jte ore?

Tt £7

Fe
Al
Ni
Cu

. B o

w112, FA-H urg A e ¥ Frenfta

1. Fe
2. Al
3 Ni
4. Cu
Q113. Match the entries of column | with
column |l
Column | Column II
a) LPG 1. Fuel for stove,
lamp,
jet-aeroplane
b) Kerosene 2. Motor fuel and
dry cleaning
¢) Bitumin 3. Fuel used in
house and
industry
d) Diesel 4, Fuel for heavy
vehicles and
gensets
e) Petrol 5. For paints and
material for
roads

Wo113, WUS-| 1 @UE-II ¥ frem &k

|us | |uE i

a) U@ W oS 1. =9, @,
Sie-agAH

by frdt®ida 2. WRAHAT
qh Y

c) fagfim 3. WX SR s
H A H YA

d) Eie 4, W A Tl
q 99 U2 H
ok

e) WIH 5. 42 9 S
femtoy

1. a-(ii), b-(i), c-(v), d-(iii), e-(iv)
2. a-(i), b-(iii), c-(v), d-(iv), e-(ii)
3. a-(iv), b-(i), c-(v), d-(ii), e-(iii)
4. a-(iii), b~(i), c-(v), d-(iv), e-(ii)

Q114 Which of the following is present
nsoil in addition to the rock particles?

1. Air and water

2, Water and plants

3. water, air and plants

4. Minerals, organic matter, air
and water

| —

1. a-(i), b-(i), c-(v), d-(iii), e-(iv)
2. a-(i), br(iil), c-(v), d-(iv), e-(ii
3. a-(iv), b-(i), c-(v), d-(ii), e-(ii)
4. a-(iii), b-(i), c-(v), d-(iv), e-(ii

frer A | ait @ Sufiew g 2
. 99 3R aH
Tt st d

2.
3. UM, g ek e
4
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Q.118. Which among the following group of
crops Is not Ravl crop?

T Rice, wheat, ground nut,
mustard

2, Gram, cotton, wheat,
soyabean

3. Rice, maize, soyabean, cotton

4, Wheat, gram, pea, mustard

Q116. Match the column | & Il correctly

Column | Column i
A. Nitrogen 1 Heterotophic
B. Amarbel 2 Bacteria
C. Chlorophyil 3. Pitcher plant
D. Insect 4, Leaf
E. Animals 5 Parasite

6. China rose

1. A-6, B-5, C-4, D-3, E-2
2. A-2, B-5, C-4, D-3,E-1
3. A-5, B-2, C-4, D-1, E-3
4 A-2, B-5, C-3, D-4, E-6

d1 17. The most common vector of commu-
*nicable diseases Is -

1 Spider

2. House Fly
3. Ant

4, Frog

Q118. which of the following Is not a for-
est product?

1. Resin

2. Gum

3. Plywood
4. Kerosene

Q119. During Pesturisation, milk Is heated
upto

w2 o d A wA-d wwe g

# wEe T E?

I. u, &, qhert, wTEl
2. o, FI9, T, S
3, ﬂﬂ,w,!ﬂﬂﬁﬁ_m

Frem | T || & 3t faem &t

w116
Hiea-1 wiea-i
A TEISH 1 Tt
B. HIEEA 2 SHar
c. uuEfH 3 Tequfi
D. R 4 Tt
E. %9 5. RITiC]
6. TSed
1. A-6, B-5, C-4, D-3, E-2
2. A-2, B-5, C-4, D-3,E-1
3. A-5, B-2, C-4, D-1, E-3
4, A-2, B-5, C-3, D-4, E-6
W.117 WEIONg M &1 9699 9Hra S
t .
I Hha!
2. Hardl
3. G|
4. gh
w118 &1 § ¥ S-wr 7= e T 47
1. oA
2. bl
3. TS
4. HULH

W119 W @ fog qu @ e A TS
T e s

1. 90°C 1. 90°C
2, 70°C 2, 70°C
3. 80°C 3. 80°C
4. 100°C 4, 1002C

34
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mzo; Which of the following is not a Kharit
crop?

1. Sorghum
2. Wheat

3. Mustard

4 Both2& 3

@121. Number of chromosomes in unfer-
tilized human egg is

1. 23
2. 46
3. 44
4. 22

Q122. Which of the following is not a bac-
terial disease?

1. Tuberculosis
2. Cholera
3. Malaria
4 Typhoid

Q123. Which of the following is not a uni-
cellular organism?

1. Amoeba

2. Euglena

3. Paramecium
4. Hydra

Q124. Corrosion of marble of Taj Mahal is
resulted by which of the following gases?

1. SO,&NO,
2 SO,&CH,
3. NO,&CH,
4  CH,&CO,

w.120. Frer ¥ ®§ S-w whw B wEer T

?

L A PR

T 1

W.122

W.123,

= -

=

W24 AVES % WA TR W1 avae Frer o
BE-w it R o g #?

1.

2-.
3.
4

a:#w:u:—@gf;h_m!v,-* ‘ﬂ:r-'.-*!-'.—

i\
W

22

¥ ¥ w0 oy sy dftert

W UH Wiy s

'ggﬁg

3

1114

SO,& NO,
SO,&CH,
NO, &CH,

CH,&CO,

‘-“E—_‘—:___.——__—‘_
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Q125. An organism has cell wall (outer
covering) but not well defined nucleus.

Identify this organism.

1. A plant

2. An animal
3. A bacteria
4. A fungus

Q126. If (x+1)*=ax*+bx*+cx*+dx+e
Then value of a+b+c+d+e will be
(1) 1

(2) 8
(3) 16
(4) 81

Q127. Ram byes some apples at the rate
of 3 apples for Rs. 2 and sells them at the
rate of 2 apples for Rs. 3 then his profit

percentage is

1
(1) 337%

2
() 665%
(3)  100%
(4) 125%

Q128. TT (pi) is ratio of circumference of a
given circle and diameter, it is a

(1) Natural number

(2) Integer
(3) Rational number
(4) Zero

Q129. Which statement is true.
(x) A prime number is a number

w.us.qmﬁﬁaﬁ‘aa‘lﬁmﬁ:ﬁf(mm)

3 Afer T8 P TEI 81 39 g 3y

l. T qT Wl
2. T ¥4

3. & San]

4 TH TS

¥.126. AfE ( (x+1)*=ax*+bx*+cx2+dx+e Ht
a+b+c+d+e T W =T Trm?
(1 1

(2 8
(3 16
(4) 81

w127 U9 Y /O 9 2 FO & @ R w A
FR AN IFTA I A AT H WIS A
Y wfaer 21 |

(1) 33 %%
2

(2) 66 *5%

(3) 100%

(4) 125%
w.128 Jr (W), g« &t uifa o =W &
FU ¢ A T TH

(1)  ardfas g&A

(2) Ui

(3)  uftim wEm

(4) b
w129 Prefefas & @ o waq @@t
(x) 3I9g §E 9% gen ¢ & shad @ a9

always divisible by one and itself. .
(y) A prime number has exactly w4 ﬁ"‘“ﬁm Eﬁ} i a
two distinct factors. (y) WY Hem 9 wem § fas $ad
& i orave @
. = e
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(1) x

@) vy
(3) Both
(4) None

Q130. The unit place digit in the cube root
of 2339356 will be

(1) 2
(2 4
(3 6
4 8

Q131. Sum of exterior angles of a regular
pentagon

(1)  720°
(2)  540°
(3)  360°
(4)  1080°

Q132. There are 11 persons in a room. One
morning all shake hands with each other.

' Total number of shake hands took place

(1) X

2 vy

(3)

(4)  Ig it TE

W.130. 2339356 & WYH W FHE W N®

(1) 2

2 4

3) 6

4 8
W.131, U 69 UF A & AL HI & 9T
t

(1) 720°

(2)  540°

(3)  360°

(4)  1080°

w132, T&% &AWt o 11 amadt ¥ ww quw .
Y T waw e fem ge e an
g fiet

are
1y 11 (1 1
@) 55 (2) 55
(3) 22 @ 22
4) 110 (4) 110
Q133. In the given figure, value of angle w.133, fox @ ®or ZABC=x®r uw #)
x= ZABC=7?
A A
30° 20° 30° 20°
B |« 80° 80 B |_«60° 60°
Cc C
Loy — e e W ARt el S s T v TP S —
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(1) s0°

(2) 40
(3) 30
(4) 20°

Q134. Value of angle x = Z CPT in the given

figure where C is centre of circle and PT is
tangent to circle.

=
(1) 30°
(2) 40°
(3) 60°
(4) 90°

Q135. Fill in the blanks
a % of b is equal to b % of —

(1) ab
(2) ab
3 a

(4) b/a

Q136. A rightcircular cylinder is formed by
melting coins of diameter 1.5 cm and height
0.2 ¢cm of height of cylinder formed is 10
cm and diameter is 4.5 cm then number of

coins used is

(1) 450
(2) 350
(3) 250
(4) 900

(1) 50°
(2) 40°
(3 30
(4) 20°

w134, Y07 x = £ CPT &1 "I &@wdt afy

=
(1) 30°
(2) 40°
(3) 60°
(4)  90°
W.135, @Et =@ W1l
b & a% SET § === & b%
(1) ab
(2) ahb
(3 a
(4) bla

W.136. T Toawl fmamr =@ 1.5 cm
0.2 cm &, @ frueTERT TH wagdd
viey, Fran T et = 4.5 cm 9T

;o cm ¥, 7t fugeme T faaet @ H/H T

(1) 450
(2) 350
(3) 250
(4) 900
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0137. In a bag, there are five red balls and
some blue balls. If probability of blue ball
drawn is double the probability of red ball
grawn then number of blue balls is

(m 5

2 10
@ 15
@ 20

i138. Which of the following is not true
(1)
(2)
(3)
(4)

Q139. The smallest 4 digit number having
three different digits is

~ (7x8)x9 = 7x(8x9)
7+8x9 = (7+8) x (7+9)
(7+8)+ 9 = 7+(8+9)
7X(8+9) = (7x8) +(7x9)

(1) 1102
2) 1012
(3) 1002
(4) 1001

Q140. Two regular hexagons of perimeter
30 cm each are joined. The perimeter of new

figure is

(1) 60 cm
(2) 50 cm
(3) 55 cm
(4) 65 cm

Q41. The traffic light at three different
foad crossings changes after every 48
Seconds 72 seconds and 108 seconds. If

“-_____‘_________________

137, wE & ¥ ute v o e e 7
{1 afy & ¥ & el Fa Fraprer T Wt

T g Frarert & g & et e w v
Tt
(1) 5
(@2 10
(3 15
4) 20

v.138, Frefafeaa § ¥ ®F-w 7 W & |
(1) (7x8)x9 = 7x(8x9)

(2) 7+8x9 = (7+8) x‘(7+9}
(3) (7+8)+ 9 = 7+(8+9)

(4) 7x(8+49) = (7x8) +(7x9)
W139. 4 FFH W WAE BT HEw WA
fored @ faer afel & v @

(1) 1102

2) 1012

(3) 1002

(4) 1001

¥.140, 3 AHEEY Nfal F form & IEw
wirgr mar faaw wRe @ oftmm 30 em

(v =) & A 7§ angfa @ wRwrg g

60 cm
50 cm
(3) 55cm
(4) 65 cm

W.141, @9 TE-3F T 9T T A 48
Afpvz, 72 Afrve 79T 108 Afwve N waa

(1)
(@)

39

Scanned by CamScanner




they change simultaneously at 7 a.m. After
what time will they change simuitaneously

again,
(1) 7 min. 12 sec,
(2) 3 min. 48 sec.
(3) 2 min. 36 sec.
(4) Not change again simultaneously

Q142. In a quadrilateral ABCD, always we
have

(1) AB+BC+CD+DA<AC+BD
(2) AB+BC+CD+DA=AC+BD
(3) AB+BC+CD+DA>AC+BD
(4) Allof the above

Q143. In a parallelogram ratio of two
adjacent angles is 3:2 then value of its
- angle which is smallest among all will be

(1) 72°

(2) 36°

(3) 108°
N (‘4) 540

Q144. Which of the following Is true, in the
figure of triangles given.

Where AC = EF then

A

B c £ F
(1) AABC  DEF
(2) ACB  DEF
3  ACB . FED
4) CAB = FDE

t, afy oeft TF W GAE 7 WX wqewt §
fipm @og & WE AW TF WY sqor

(1) 7 fiye 12 Gfwve
) 3 e sBdieT
(3) 2 fue 36 ¥fFve
(4) e TE WY TE e

W.142. TF YA ABCD ¥ THYW ¥rar #1

(1) AB+BC+CD+DA<AC+BD
(2) AB+BC+CD+DA=AC+BD
(3) AB+BC+CD+DA>AC+BD

(4) I O
W.143, T& WY w9 o I WA w5
HUW 3:2 T, T TH WEAN VIS 0T T W

t_ .
i (1) 720
(2)  36°
(3)  108°
(4) 54°

W.144 et fa g frgeli @ amaw w s
YT Wit &-

aff AC=EF2 @
: D
A
X
Y
B c
" E F
(1) ABC DEF
(2) ACB DEF
(3) ACB FED
4 caB ' FDE
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qi45. Mother of Ram Ig 26 years younger
than his grandmother byt 29 yu‘r'l olg:r
than Ram. If there sum of ages Is 135 then
age of grandmother in years |s,

(1) 46
@ 72
@ 17
4) 63

0146. Who Is known for Blood and Iron
Policy :-

(1)  Ghiyas-ud-din Balban
(2)  Raziya Sultan
(3)  Rukuddin
(4)  Itut mish
Q147. Who was the author of 'Padmavat’ :-
(1)  Malik Kafur
(2)  Malik Salim
(3) Malik Mohummad Jayasi
(4) Malik Sultan
Q148. Who founded 'Sikhism'
(1) Guru Arjun Dev Ji
(2)  Guru Nanak Dev Ji
(3)  Guru Gobind Singh Ji
(4) Guru Angad Das Ji

W.145 TR & uf, T W At | 26 w6 v

ur T A 29 o wgt #) afy I wewm g W
Wy 135 A & At W g weit-
(1) 46
2) 72
3) 17
(4) 63
w146 Tt ® | * @ Ey we w5t cife s
firg & Ay & frg o e -
(1)  TgeEH T@aT
2 o gem
(8) FEEH
(4 wmo
W.147 ‘vaurEd’ & vEw P A awmt - -
(1) e Feg
(2) Wit welim
(38)  wierR e St
(4) Wi gem
w.148 foew odf & g wA € -
(1) T® 39 39
(2) TE TF 2F W
(3) & nfa= fgg it

(4) TE IR T
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Q149,

If you want to see Mount Abu to

149 AT 3T WHE 3Tg QT uR A iy

:rhich of the following states you will visit fpg g B A -

(1) Uttar Pradesh (1) IWI

(2)  Bihar (2) faen

(3) Kerala (3) @

(4) Rajasthan (4) T
Q150. i
kn?;; ] V::r:c-ls cut or written on stones are ;_1 so T W fa v et 3 9w wpeny

(1) Monuments i (1) RF

(2) Inscriptions 2) fafv o@

(3)  Carvings 3) G

(4) Miniatures (4) @y o
Q.151 What is the other name of Sun 3
Temple :- ’ ;1;1'-q&mwwmﬁqﬁﬂm

(1)  Black Pagoda ' (1) = e

(2)  Jain Mandir ) = aft

(3)  Sun Temple (3) §dafET

(4) Buddhist Temple (4) g iz
Q.152 Under the Cholas a 'Valanadu' | W.152 <iren Ty # deey w1 o o -
Means :- (1) TF

(1) States ) T

(2) Villages

(3) - Districts ) ﬁﬁﬂ

(4) Tehsils (4) eI

. o -

Q.153 Aryans worship :- w153 amd Prer ¥ | few @t gon FA

(1) Sun God (1) -{:Ei @

2 Agni God (2 afiF i;

(3) Varun God ® s

(4)  Nature God %, JND
—————— 42 :
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0,164 Matoh the foliowlnq A or B oolumn

A n
(I) Sasaram (ADUI Fagn)
(1) Buland Darwagg () Blkandra
(1) Akbar Nama (@)ahang
(Iv) Akbar's Tomb (Ehah Jaly
(v) Nurjahan (8)Akbar
(vl) Mumtaz Mahal (NBher Bhan

Burl

(1)
(2)
(3)
(4)

0.166 Which animal was used as a

(), (@), (), (b), (o), (d)
(@), (b), (0), (d), (a), (1)
(d). (e, (1), (a), (b), ()
(@), (b), (1), (0), (d), (0)

siandard of value In barter system :-

(1) Cow

(2)  Horse

(3) Goal

(4)  Sheep
Q.156. In which religion 'Middie Path' Is
followed :-

(1) Hindulsm

(2) Buddhism

(3) Jainlsm

(4)  All above
0.157 Megalith stones were huge stones
found on :-

(1)  Sites for houses

(2)  Sites for shops

(3)  Sites for shopping centre

complex

(4) Burial sites

43

R '1,-.'.}11' o i

WONA o ' o ) oy e

(1) e

" |
(i) ¥ Hhwin
(R IEREETET] (1) yspirot ]
() s1etisgi =pn) (1) il
(V) Siet sl Hotimdl (o)) ot
CIRGLT

(v) il
(VI) duerar e

(1)
(¥)
()
(4)

(hWewiiv 2
(1), (&), (&), (h), (o), {d)

(), (h), (0), (d), (&), (1)
(), (0), (1), (&), (b)), (&)
(H)I th,l {”r (ﬂ"i “IJ, {HJ

w188 wreer yureft 6 for 0 0 fae vy
w witem (cost) @ fom e Py

ar

(1)  mm

(2) g

(3)  wh

(4) g
w186 fror o & o ok 1 ‘woy urd sy
'lmr fo

(1) o ud

() g

(3) W

(4)  #an o)
w.157 frmfma werr ooy # 4 g oo oy
o WA b -

(1) 1 % o fussffn vigpy

(2) 5 % ey gy

(3) vt mmamEg 5 fou fafr

uq'r.'f
(4)

qE] %t fosifen wep

. o
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Q.158 Man

Who saiqg |t-:.' soclal being. w.158 WH TF WA wiof §) o oy
() Pt P 87
(1) =@
(2) Aristotle
3. s ® .
Ocrates
4 TH. Green @
Q.159 Which is the orq 4> B
fO“Owlng-' est subject in the w159 P ¥ ¥ v T g Wﬁ?—m b
(1) History (1)  sfoer
(2)  Political Science (2) TS e
(3)  Sociology (3) AN
(4)  Ethics (4)  Hfd wwe
I(::IIG:; What is the minimum voting age in :'-_“160 W § HATUERT T oy
(1) 18 Years (1) 1894
(2) 19 Years 2) 19 =d
(3) 20 Years (3) 20 =
(4) 21 Years (4) 21 99
Q.161 India's constituion was adopted on? W.161 WD far &t 319=rar T@r
(1) 26th June 1948 (1) 26 A 1948
(2) 26 Jan 1950 (2) 26 SHaH 1950 F
(3) 26 Nov 1949 (3) 26 TEa 1949 F
(4) 26 Dec 1948 (4) 26 fegi 1948 B
Q.162 How many elements the state has? | .., T B et e AR A2
(1 6 1) 6
(2 4 @ 4
3 3 3) 3
(4 8 4 8

_________——————-.—______w-‘"’
44 Lo
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0,163 who recognizes a political party In
jndia?

(1) Election Commisslon
(2)  President
(3)  Supreme Court Of Indln
(4)  Law Minlster
0.164 Which state |s given speclal status

in Art 370 of the Indlan constitution?
(1)  Blhar
(2) Kerela

(3) Jammu Kashmir
(4) Arunachal Pradesh

0.165 How many fundamental are added In

the Indlan Constitution?
(1) 08
(2) 10
(3) 12
(4) 14
0.166 How many states are there in India?
(1) 30
(2) 28
(3) 24
(4) 22

Q.167 Which article of the Indian
Constitution gives equality before law?
(1)  Art14
(2) Art16 .
(3) Art17
(4) Art 18

w163 wren # erovhfivm sor wh s i
tor 47

(1) s s

(2)  urnfa

(@) webe arrery

(4) it oA
%164 sredr wfemr s e # 370 #

far Troq Wy Prire ot forar 7
(1) fhmr
(2) e

(@) g i
(4)  sTwvTHT YR
w165 wirreta wftpumy o fiwert hfors wmton

wirg o, §7
(1) 08
@ 10
3) 12
4) 14
w166 e ¥ wmor fery Trog §7
(1) 30
(2) 28
(3) 24
4) 22
W,167 WAy Wi w5 WA aren W
W WY WHrT W arfirwre A 47
(1) = ey 14 5
(2) o= 16
(3) SR 17
(4) oY |8

I L

Scanned by CamScanner




Q.168 How many members are nominated | w.168 Tﬁqﬁ:wm*mmm

by President for Rajya Sabha? e &7
() 14 (1 14
@ 10 2 10
3 12 @ 12
4 15 (4) 15
g:ps:bl\lzglch of the following Is not | o ..o frey A & =T TORT TEF #?
(1)  China Y
(2) USA @ SR
(3)  Brtain @
(4) Russia @ A

w170 faeeht, wRamom o vowa § de
wda sjEen @ W fafag:

Q.170 Name the mountain range that
. spreads over Delhi, Haryana and Rajashan.

(1)  Karakoram range

(2) Himalaya range

(3) Aravali range

(4) Shivalik range
Q.171 Which state of India is known as
the 'garden of spices'.

(1) Tamilnadu

(2) Kerla

(3) Karnataka

(4) Andhra Pradesh
Q.172 Which of these currents is a warm
current.

(1) Labrador current

(2) Gulf stream current
(3) Oyashio current
(4) California current

(1)  FUHre vda Aof

(2) feurem vda goft

(3)  WEet gekd Aot

(4) ferefes wda ot
w171 wRa & fww Tow @ and ware &
IuA' FEd §?

(1) afeg
(2) W

(38) WS
(4) v WR_W

w172 frefafas aumi § @ @E-d ™
anr §7? :

(1) <HERF U™

(2) Tow T H UA
(38)  irmfyml =t W
(4) Sawifr s uA

#_
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0.173 Below the rain and its chara i .
yre mentioned, make the right p.lr"_"“‘ cs | w173 A< wat v wad fadrwarg afda
- ¥ it g T
A Rain with heavy shower (1) Convention :
. Tranquil rain (3) Monsoon | @ W@Em @ myaw  (2) FHAlEd
(Undisturbed rain) T v ae (3) WAEA
D. Distructive rain (4) Mountain | §  fywageT (4) vddta
A B C D @ T q
(1 3 4 2 1 (1) 3 4 2 1
2 1 4 3 . @ 1 4 3 2
@ 2 3 1 4 (3 2 3 1 4
(4) 1 4 2 3 (4) 1 4 2 3
Q.174 Match the following: w174 fr= wq‘f = ﬁq'mu:?
A Sericulture (1) Fruit F 90w (1) &
B, Horiculture  (2) Bee rearing q  EEwe (2) wypvrert e
C. Olericulture  (3) Rearingofsilkwarm | T 3T FHEW (3) T greA .
D. Apiculture  (4) Vegetable ¥ T HER (4) wesit
A B C D ] L | T q
(M 1 2 4 3 (1) 1 2 4 3
@ 3 1 4 2 2) 3 1 4 2
@ 2 3 1 4 (3 2 3 1 4
4 4 1 3 2 4) 4 1 3 2
Q.175 One of the planet's because of it's size | W.175 & ¥ ¥ T& ¥ # Iaa My afw
and shape is considered as Earth's twin: A B wROT I ‘et = oAl wEA b
(1) Mars | (1) 51 7®
(2)  Venus (2) = e
(38)  Jupiter (3) Fewfa e
(4)  Mercury | (4) 95 TE

ﬁ
47
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Q.178 Which one of the following
statements is not correct:

(1) The Peninsula is a piece of land that is
surrounded by water on three sides.

(2) The northernmost Himalayan mountains are
also called Himadri.

(3) Sahyadris border-the Deccan plateau in the
east,

(4) Where river enters the sea- that point is
called the mouth of the river.

Q.177 Four ports have been marked in the

map and marked as 1, 2, 3, 4 and named as

A - Karwar, B - Kokinada, C - Manglor, D -
Tuticorin

(1) A-1, B-4, C-2, D-3
(2) A-4, B-1, C-3, D-2
(3) A3, B-2 C4,D-1
(4) A-2,B-3C1,D4

w176 Prefataa waR ¥ BA-T1 gy

wea 7t ¢ .

1) mﬂ@a-mqm%wm
'Wﬂﬂﬁﬂ%'

2 ferer wda @ afa T am
feat ot wed 2

(3)  wEmEfR-<wEd SR w g dim

@) o @ R H v w5 s oy
HerHl FEd 8

w177 wAfa ¥ w1 sEeme S fafim fa

T AAr IR 1, 2, 3, 4 ¥ AT T ¢ TR

AW & ® - FHEAR, T - HIHETE, T - Yiey,

u - et

(1) -1, @-4, 71-2, 9-3
(2) -4, @-1, 1-3, ¥-2
(3) -3, @-2, T-4, °-|
(4) -2, @-3, -1, 9-4

Scanned by CamScanner



e

AL Read the following statements.

The mid-day sun is overhead at least
«ce & year on all latitudes between tropic of
cancer and tropic of capricon.

w178 frodifn waell w il

% vt o1l e U o a1
st o sprga b aod ool @ s R i
st w81

g This area is called the Torrid Zone'

i e B
(1)  Both A and B are true. @ g AW ) Fon e

() i o sh e B

(2) o ol i w9 W s ]
5w # ol s R

(4) Bistrue and A is false. (4) @ we & sl o or ¥

7179 afor-ufie WO W W9 s
wit warg, et §-

(1) v wR E o

(2) TR Y M ]

(3) TeR B e & i .

(4) e A ER F 6N

7180 ahTen Aw @ et srefta Tw ) -
(1) fierm ame, v, ST,

(2) Aand B are totally false.
(3) Aistrue and B is false. (3)

0,179 During the south-west monsoon
period, the moisture laden winds blow

from:
(1) Land to sea

(2) Seato land
(3)  Plateau to plains
(4)  Plains to plateau

0.180 Surrounding Indian states of
Bangladesh are:

(1) West Bengal, Meghalaya, forqu fapsiven
Assam, Tripura, Mizoram '

(2) West Bengal, Bhutan, (2)  uftem wme, 2, SO
Arunachal Pradesh, Assam, Tripura w&vl, s, fagu

(3) West Bengal, Meghalaya, @)  ufyem e, AN, SR,
Assam, Tripura, Mizoram ﬁ'ﬂ“: fipsi

@ r wossogn | () o e ¢,

S n e B e e e Ly et -
| —— ___-_w—_m.
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